Баҳора Муратова
 (Карши, Узбекистан)

ON LINEAR PREDIKTORS FOR NON –STATTIONARY PROCESSES

Let the noise process {}in an ARMA (p,q) model

With  be such that 

ALEKSANDER  KOWALSKI [1] has shown, among other things,that there exists a unique, bounded solution of (1) and that the prediction formulas used for invertible stationary ARMA models are valid also for (1)-(2).
  Let  denote the probability spase with the filtration( non-increasing sequence of sub--fields of the -field ). The -field  is interpreted as the -field of all events prior to and including time  let  denote a Hilbert space of zero mean random variables defined on  with finite second moments. Define on  the  adapted process  where  is  measurable for every  such that 
Define now a non-stationary ( not necessarily uniformly - bounded )
ARMA process by the equation 

Where 
Definition. The model (3) is said to satisfy the AR-regularity conditions ( is AR-regular) if and only if for some 

And it is said to satisfy the MA-regularity conditions (is MA- regular) if and only if for some 

Where  are roots of polynomial  and 

with
That the model (3) can be represented in the state space by 


where

Let  be defined by  with  Then we have the following lemma:
Lemma 
Let 
be polynomials of complex variable. Then 

Proof. Let  Then 






But the last term equals 

[bookmark: _GoBack]As the polynomial  has no roots inside the negative oriented circle  with the radius . Hence we conclude that (8) is true.
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